Suppose that a firm’s production function is given as:

Q=2 S ^ 1/3 U ¼

Where S stands for skilled labor and U stands for unskilled labor (both of which are expressed in person hours). Suppose skilled labor receives $11.20 per hour and unskilled labor receives $8.00 per hour. Also, suppose the firm uses 8 person hours of unskilled labor and 64 person hours of skilled labor to produce 144 units of output.

(a) Is this firm minimizing the cost of producing this level of output? If so, explain why. If not should the firm use more or less skilled labor?

(b) Are there increasing, decreasing or constant returns of scale in this industry?

